PRORLEM 13.5D

KNOWN: Cq Hip@)reacts completely witharr. The ractmnts and preiducts are at
7.5‘°C) latwm -

FIND:  Determine the anthalpy of combushon for (a) Ha0(g) Lique products, o)

Ha0 (1) indke produets, Expaoss €ach wi £T per icnwlof fual and wI per iy of Feadt -
ASSUMPTIONS™ (1) 37 woler 0§ Ny utoh(nu:) each wele of 0, inthe air. Ny s iuert.
(2) Combushom it with +ue theorehcal awound 0f air, (3) The combushon arr
ond 4he combushon produets can be wiodeled as fdeal 9ases.

ANALYSIST  Cowmplete cowbushion of CaHip with the theoreh'eal amount of
owr s deseribed by

Catho + 6.5(0.+3WAR) => 4C0, + SHLO + 2444 Ay
The endhuslpy of combushon s
hKP s 4heo, +5 hHo = kgl'ho "6'ka‘_
Since the reactants and pasduets e at ?,S‘fc)(q-y\“ tas reduces Sl'wp'a +o

T;.P B 4@‘3:9; A SC‘:")HLO - Q:‘F )C4H|o

(&) M0 is avepir. Uting data from Table A-25

b
Tpp s 4 (-39530) + 5 (241,700 - (-2 150) = = 2.657X10 kT/xmal Cythe)
- - -
Tor CqHe, M=S812, 52 Ca)
© . C] J
hgp = — 2.657X/0° __45, 716 L‘E-
s8>
(b) W20 it a ligud,. Usiwng da ta g....-r-»l-\e A-25°
Thre s 4(-19,52) + §(-385,820) = (126, 150) = -2, 377 %0 kT bl ()
-
and . . 6 - Cb)
hepz = 2877X0° _ 44,501 £
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